CMPUT 355 Quiz 3 Marking Rubric
Winter 2025

Question 1 (3 marks)

Each part is worth 1 mark.
-0.5 marks for each incorrect value (maximum of 1 mark taken off for each part)

Question 2 (3 marks)

+1 mark for correct blanks filled in
-0.5 per minor syntax mistake

Question 3 (3 marks)

-0.25 marks for each incorrect answer (minimum 0 marks)

Question 4 (3 marks)

All proof trees provided must be complete and correct to receive full marks.

If at least one complete and correct proof tree is provided, additional incomplete proof
trees can remove up to 1 mark (0.5 per missing node)

Each incorrect node or label: -0.5 (no limit)

Each missing node: -0.5 (only limited if a complete proof tree exists)

If leaf nodes are not labeled, no credit can be given

If some leaf nodes are described, but not drawn out: credit is not removed for “missing
nodes”’; however, if the only complete proof tree is provided in this manner, it is not
assigned full credit.



